Parts supplied (Note: The fasteners included may not be suitable to your wall

structure. Please check with the installer on proper fasteners to be used based

on the material makeup of your wall)

A. (1)RangeHood

B. (1) Power Cord (attached torange hood)

C. (1)6” round vent air flap on the model 631T/XP11(75). (attached to range
hood on top of unit)

D. (2)Drywall Anchor (Wallanchors will vary depending on wall material and the

weight of the range hood being installed. They can be found at any home

improvement store)

(2) 1-3/16 drywall anchor screw

(2) #10 X 3/4 tapping screw

(2) #6 X 3/8 SM Screw

(2) Aluminum Filters (attached to the bottom of the range hood)

(1) Duct bracket: Model 631T/XP11(75) have 1 bracket with (2) #6x3/8 SM

screws (pre-install)

(1) 6” round flexible duct exhaust hose

K. (2)Stainless Steel Ducts (inner and outer)

—Teomm

-4-

Installation Instruction for Wall-Mounted Range Hood
Flue Extension(Stainless Steel) RHECH631T

Installing the range hood

This installation is for mounting the product to a wall. Ensure your wall
has the proper support to hold the range hood weight. These instructions
are general guidelines, please consult your installation specialist regarding
the best type of mounting hardware and support system based on your
wall construction. All wall mounted range hoods, if possible, should be
installed and supported by studs behind the wall (hardware not included).
In the event studs are not in alignment with the wall mount mounting plate
holes, a wooden cross support system may need to be retrofitted to your
existing studs. All homes are different and installations will vary.

1. Begininstallation by removing the filters (G) and removing any tape on the air
flow flappers (C).

2. Remove protective film from range hood and ducting. When handling the
ducting please wear protective gloves to avoid sharp edges.

3. Findthecenter of the wall where you are installing the hood. Mark your center
line to the ceiling and measure out from the center to find your two mounting
points. The (2) mounting holes will be found on the back of the range hood
(the mounting holes will vary by model). Make sure your mounting points are
level when you mark them.

CEILING

1. CENTER LINE

+

I
I
|
|
| : -

2. CHIMNEY 3. MOUNTING
WIDTH SCREWS

4. Mark your mounting points and install the drywall anchors (D) turning until
they are flush to the wall, do not overturn. Screw the (2) 1-3/16 drywall anchor
screw (E) into the drywall anchor (D) leaving the heads out %” to mount the
hood. See Figure 1.

5. Temporarily position the range hood in the desired mounting location on the
wall (this will require 2 people). See Figure 2.

-



Figure 2

10.

Figure 1

*To properly secure the range hood, identify a
stud(s) and drill though the back of the range
hood at stud location and secure with a wood
screw(s) (notincluded)

Make sure the range hood is level. Finish screwingthe (2)1-3/16 drywallanchor
screw (E). Do not over tighten.

Center the mounting bracket (H) at the top of the ceiling and insert (2) #10 X 3/4
(F) tapping screws into the horizontal holes and attach to the wall. See below.

Assemble ventilation to outside ducting. Install (1) 6" round flexible duct
exhaust hose (l) to round vent air flap (C) (attached to range hood on top of
unit) and secure with ducttape. Note: If you are choosing the ductless/

recirculating mode do notinstall the(1) 6" round flexible duct exhaust hose (I).

Power the hood by connecting the three-pronged plug to a nearby electrical
outlet.

631T/XP11(75) is confained one mounting bracket (H), place two pieces of
Ducting (J) on top of the range hood, making sure the vent in the upper section
istowards the top and the upper section slides inside the lower section in a
telescoping fashion, note the grooves on the inside of the duct work to help
guide and secure. Lower the top ductinto the bottom duct. See below.

11. Placethetwo pieces of ducting (J) ontop of the range hood. Insertthe bottom
section of the duct (J) to the top of the range hood and insert (2) #6 X 3/8 SM
screws (K) through the outer panel of the duct to the holes aligned on the range
hood and tighten.

e (0
(K)h_._

12. Oncethe bottom ductissecured, slowly slide the top duct towards the ceiling.
Attach (2) #6 X 3/8 SM screws (pre-installed) from the outside of the ducting
to the bracket installed.

(H)

Uﬂﬂﬂﬂﬂﬂﬂﬂﬂn

[T
] *Remove #6X3/8 SM screws
(pre-installed) from duct
bracket (H) first.

#6 X 3/8 SM screws
(pre-installed)

13. Turnonunitand proceed to operatinginstruction. Note: There is a protective
film covering the touch control panel. Please remove this film.
14. Installfilters (G) back to the range hood.

-3-



	页 1
	页 2

